

Thursday Trios Bowling League 2026

TEAM STANDINGS

WEEK : 01/11

DATE : 12-Feb-26

POS	TEAM NAME	B/f		CURR POINTS		TOTAL GAME POINT		TOTAL		PINFALLS
		Won	Lost	Won	Lost	Won	Lost	B/f	Curr	Total
1	UNIX (Tm #05)	0.0	0.0	18.0	2.0	18.0	2.0	0	2422	2422
2	Fun2Bowl (Tm #12)	0.0	0.0	17.0	3.0	17.0	3.0	0	2217	2217
3	Pocket Rockets! (Tm #04)	0.0	0.0	17.0	3.0	17.0	3.0	0	2160	2160
4	SYNERGY (Tm #09)	0.0	0.0	14.5	5.5	14.5	5.5	0	2311	2311
5	Juz Kakis (Tm #01)	0.0	0.0	13.5	6.5	13.5	6.5	0	2136	2136
6	JuzStriXe (Tm #08)	0.0	0.0	10.5	9.5	10.5	9.5	0	2199	2199
7	Phytoplankton (Tm #07)	0.0	0.0	9.5	10.5	9.5	10.5	0	2118	2118
8	AA Bowlers (TM #02)	0.0	0.0	6.5	13.5	6.5	13.5	0	2123	2123
9	Finger Tippers (Tm #10)	0.0	0.0	5.5	14.5	5.5	14.5	0	2099	2099
10	The Pin Crushers (Tm #11)	0.0	0.0	3.0	17.0	3.0	17.0	0	2015	2015
11	Comeback Bowlers (Tm #03)	0.0	0.0	3.0	17.0	3.0	17.0	0	1956	1956
12	Allegators (Tm #06)	0.0	0.0	2.0	18.0	2.0	18.0	0	2093	2093

Thursday Trios Bowling League 2026 - Bowler Records

After Week #1

No	Name	M/F	Next HDCP	Total PFS	GMS	AVG	Topup Points	Topup Total	AVG*
Juz Kakis (Tm #01)									
1	Evelyn Yap	F	21	619	4	154	-	619	154
2	Norsiah Abdul Majid	F	-	-	-	-	-	-	-
3	Abdul Mutalib Bin Ab Rahaman	M	14	647	4	161	-	647	161
4	Vikneswaran s/o Selvarajoo	M	8	698	4	174	-	698	174
5	Rohaidah Binte Eseh	F	-	-	-	-	-	-	-
6	Koh Geok Soon	S	-	-	-	-	-	-	-
7	Aishah Bte Sudal	F	-	-	-	-	-	-	-
8	Abdul Rahim Ahmad Saleh	S	-	-	-	-	-	-	-
9	Stephanie Kong	F	-	-	-	-	-	-	-
10	Isyraq Bin Ismet	M	-	-	-	-	-	-	-
11			-	-	-	-	-	-	-
12			-	-	-	-	-	-	-
AA Bowlers (Tm #02)									
13	Teo Kun Ho Arnold	M	14	644	4	161	-	644	161
14	Ong Kong Sing	M	5	718	4	179	-	718	179
15	Goh Shiming Gavin	M	-	-	-	-	-	-	-
16	Siew Joern Matthew	M	18	613	4	153	1	614	153
17	Ho Yin Choy Mike	S	-	-	-	-	-	-	-
18			-	-	-	-	-	-	-
19			-	-	-	-	-	-	-
20			-	-	-	-	-	-	-
21			-	-	-	-	-	-	-
22			-	-	-	-	-	-	-
23			-	-	-	-	-	-	-
24			-	-	-	-	-	-	-
Comeback Bowlers (Tm #03)									
25	Loh Peck Jin	F	34	496	4	124	34	530	132
26	Khoo Ghee Han	S	34	489	4	122	43	532	133
27	Lee Soong Yang	S	22	611	4	152	-	611	152
28			-	-	-	-	-	-	-
29			-	-	-	-	-	-	-
30			-	-	-	-	-	-	-
31			-	-	-	-	-	-	-
32			-	-	-	-	-	-	-
33			-	-	-	-	-	-	-
34			-	-	-	-	-	-	-
35			-	-	-	-	-	-	-
36			-	-	-	-	-	-	-
Pocket Rockets! (Tm #04)									
37	Yang Jianfeng	M	-	782	4	195	-	782	195
38	Tina Leong	F	-	-	-	-	-	-	-
39	Neville Eng	M	-	-	-	-	-	-	-
40	Reyes Eng	M	-	-	-	-	-	-	-
41	Ignatius Eng	M	-	-	-	-	-	-	-
42	Surindranath Kaseenathan	S	31	534	4	133	21	555	138
43	Kwa Yonlye	M	9	684	4	171	-	684	171
44	Ardi Bin Ramli	M	-	-	-	-	-	-	-
45	Choy Wai Chee	F	-	-	-	-	-	-	-
46	Fiona Yoong	F	-	-	-	-	-	-	-
47	Ng Boon Hian	M	-	-	-	-	-	-	-
48			-	-	-	-	-	-	-

AVG* = Minimum score of 140 (men) / 140 (ladies) per game to be taken for handicap calculation
 Top-up Points = Total points added for the games which are below minimum score.

Thursday Trios Bowling League 2026 - Bowler Records

After Week #1

No	Name	M/F	Next HDCP	Total PFS	GMS	AVG	Topup Points	Topup Total	AVG*
UNIX (Tm #05)									
49	Zhou Wencong	M	-	820	4	205	-	820	205
50	Koh Hwee Chern Metta	F	-	770	4	192	-	770	192
51	Zhou Hongxuan Kenneth	M	-	-	-	-	-	-	-
52	Andrew Yong	M	-	832	4	208	-	832	208
53	Jamie Kay	F	-	-	-	-	-	-	-
54	Yeo Wee Siong	M	-	-	-	-	-	-	-
55	Noorfizah	F	-	-	-	-	-	-	-
56	Hazly	M	-	-	-	-	-	-	-
57			-	-	-	-	-	-	-
58			-	-	-	-	-	-	-
59			-	-	-	-	-	-	-
60			-	-	-	-	-	-	-
Alleygators (Tm #06)									
61	Lam Chee Leong	S	13	672	4	168	-	672	168
62	Wang Liyang Jake	M	14	644	4	161	-	644	161
63	Mohammed Hafiez Ali	S	-	-	-	-	-	-	-
64	Zaleha Abdul Manaf	F	29	553	4	138	12	565	141
65	Nur Hanis Binte Mohammed Hafiez	F	-	-	-	-	-	-	-
66	Jackie Tay	M	-	-	-	-	-	-	-
67	Jasper Chua	M	-	-	-	-	-	-	-
68	Glenda Quek	F	-	-	-	-	-	-	-
69			-	-	-	-	-	-	-
70			-	-	-	-	-	-	-
71			-	-	-	-	-	-	-
72			-	-	-	-	-	-	-
Phytoplankton (Tm #07)									
73	Alvin Gan	M	-	763	4	190	-	763	190
74	Aw Yang Ming	M	-	756	4	189	-	756	189
75	Tyrael Aw	M	26	495	4	123	60	555	138
76	Stanley Gan	M	-	-	-	-	-	-	-
77	Koh Thiam Joo	M	-	-	-	-	-	-	-
78	Teo Wee Seng	M	-	-	-	-	-	-	-
79	Derrick Li	M	-	-	-	-	-	-	-
80			-	-	-	-	-	-	-
81			-	-	-	-	-	-	-
82			-	-	-	-	-	-	-
83			-	-	-	-	-	-	-
84			-	-	-	-	-	-	-
JuzStriXe (Tm #08)									
85	Lian Kok Yeow	S	-	-	-	-	-	-	-
86	Chua Cheow Teck	S	-	-	-	-	-	-	-
87	Kwek Yao Chie	M	6	711	4	177	-	711	177
88	Ng Chye Wah	S	-	-	-	-	-	-	-
89	Francis Yap	S	16	649	4	162	-	649	162
90	Roland Ng	M	-	-	-	-	-	-	-
91	Gerald Ang	S	3	739	4	184	-	739	184
92			-	-	-	-	-	-	-
93			-	-	-	-	-	-	-
94			-	-	-	-	-	-	-
95			-	-	-	-	-	-	-
96			-	-	-	-	-	-	-

AVG* = Minimum score of 140 (men) / 140 (ladies) per game to be taken for handicap calculation
 Top-up Points = Total points added for the games which are below minimum score.

Thursday Trios Bowling League 2026 - Bowler Records

After Week #1

No	Name	M/F	Next HDCP	Total PFS	GMS	AVG	Topup Points	Topup Total	AVG*
SYNERGY (Tm #09)									
97	Lim Fong Yee	F	-	-	-	-	-	-	-
98	Low Chang Hong	S	-	779	4	194	-	779	194
99	Tan Khoon Han	M	-	-	-	-	-	-	-
100	Tan Chee Keong, Matthew	S	-	833	4	208	-	833	208
101	Anbu Ganesh	S	23	607	4	151	-	607	151
102	Lim Wei Jun	M	-	-	-	-	-	-	-
103			-	-	-	-	-	-	-
104			-	-	-	-	-	-	-
105			-	-	-	-	-	-	-
106			-	-	-	-	-	-	-
107			-	-	-	-	-	-	-
108			-	-	-	-	-	-	-
Finger Tippers (Tm #10)									
109	Fazlin Jaya Indra	S	-	-	-	-	-	-	-
110	Abdul Rahman	S	-	-	-	-	-	-	-
111	Mark Chan	S	-	-	-	-	-	-	-
112	Siti Hajar	F	-	-	-	-	-	-	-
113	Hanafiah Bin Mahbut	M	9	687	4	171	-	687	171
114	Nurul Syazwani	F	21	617	4	154	-	617	154
115	Norazlin Jumadi	F	25	575	4	143	14	589	147
116			-	-	-	-	-	-	-
117			-	-	-	-	-	-	-
118			-	-	-	-	-	-	-
119			-	-	-	-	-	-	-
120			-	-	-	-	-	-	-
The Pin Crushers (Tm #11)									
121	Nge Moh Lim	S	29	546	4	136	21	567	141
122	Khairul Salleh Bin Abu Bakar	S	-	-	-	-	-	-	-
123	Chuang Chea Chee	F	-	-	-	-	-	-	-
124	Pang Chee Yong Jason	M	24	555	4	138	14	569	142
125	Liu Gong Kai Andrew	M	14	646	4	161	-	646	161
126	Jeffrey Lim	M	-	-	-	-	-	-	-
127	Mohamed Nihal	M	-	-	-	-	-	-	-
128	Muhammad Fikri Bin Mohd Bakri	M	-	-	-	-	-	-	-
129			-	-	-	-	-	-	-
130			-	-	-	-	-	-	-
131			-	-	-	-	-	-	-
132			-	-	-	-	-	-	-
Fun2Bowl (Tm #12)									
133	Ng Siong Boon	S	-	-	-	-	-	-	-
134	Gwendolyn Khoo	F	4	728	4	182	-	728	182
135	Kenneth Lee	M	4	729	4	182	-	729	182
136	Ng-Yeo Bee Kheng	F	-	-	-	-	-	-	-
137	Teo Chai Hock	S	-	-	-	-	-	-	-
138	Peter Yeo	M	7	700	4	175	-	700	175
139			-	-	-	-	-	-	-
140			-	-	-	-	-	-	-
141			-	-	-	-	-	-	-
142			-	-	-	-	-	-	-
143			-	-	-	-	-	-	-
144			-	-	-	-	-	-	-

AVG* = Minimum score of 140 (men) / 140 (ladies) per game to be taken for handicap calculation
 Top-up Points = Total points added for the games which are below minimum score.

Thursday Trios Bowling League 2026

Week: 01 / 11

12-Feb-26

LID	Name	Hcp	Game 1	Game 2	Game 3	Game 4	Series	G1 w/hcp	G2 w/hcp	G3 w/hcp	G4 w/hcp	Tot+Hcp	Pts-won	Total Pts
1	Juz Kakis (Tm #01)													
1.1	Evelyn Yap (NB)	21	148	138	149	184	619	169 ^o	159 ^o	170 ¹	205 ¹	703 ^o	2	13.5
1.2	Abdul Mutalib Bin Ab Rahaman	14	181	180	131	155	647	195 ¹	194 ¹	145 ^o	169 ¹	703 ¹	4	
1.3	Vikneswaran s/o Selvarajoo (NB)	8	183	157	181	177	698	191 ¹	165 ^o	189 ¹	185 ^o	730 ¹	3.5	
	Team#1 score	43	512	475	461	516	1964	555 ¹	518 ^o	504 ¹	559 ¹	2136 ¹	4	
2	AA Bowlers (Tm #02)													
2.1	Ong Kong Sing (NB)	5	188	177	162	191	718	193 ¹	182 ¹	167 ^o	196 ^o	738 ¹	3	6.5
2.2	Siew Joern Matthew (NB)	18	167	129	170	147	613	185 ^o	147 ^o	188 ¹	165 ^o	685 ^o	1	
2.3	Teo Kun Ho Arnold (NB)	14	155	184	134	171	644	169 ^o	198 ¹	148 ^o	185 ^o	700 ^o	1.5	
	Team#2 score	37	510	490	466	509	1975	547 ^o	527 ¹	503 ^o	546 ^o	2123 ^o	1	
3	Comeback Bowlers (Tm #03)													
3.1	Loh Peck Jin (NB)	34	123	140	116	117	496	157 ^o	174 ¹	150 ¹	151 ^o	632 ^o	2	3
3.2	Khoo Ghee Han (NB)	34	113	142	123	111	489	147 ^o	176 ^o	157 ^o	145 ^o	625 ^o	0	
3.3	Lee Soong Yan (NB)	22	138	148	158	167	611	160 ^o	170 ^o	180 ¹	189 ^o	699 ^o	1	
	Team#3 score	90	374	430	397	395	1596	464 ^o	520 ^o	487 ^o	485 ^o	1956 ^o	0	
4	Pocket Rockets! (Tm #04)													
4.1	Surindranath Kaseenathan (NB)	31	138	130	109	157	534	169 ¹	161 ^o	140 ^o	188 ¹	658 ¹	3	17
4.2	Kwa Yonlye (NB)	9	155	177	170	182	684	164 ¹	186 ¹	179 ¹	191 ¹	720 ¹	5	
4.3	Yang Jianfeng (NB)	0	182	223	172	205	782	182 ¹	223 ¹	172 ^o	205 ¹	782 ¹	4	
	Team#4 score	40	475	530	451	544	2000	515 ¹	570 ¹	491 ¹	584 ¹	2160 ¹	5	
5	UNIX (Tm #05)													
5.1	Koh Hwee Chern Metta (NB)	0	162	200	214	194	770	162 ¹	200 ¹	214 ¹	194 ¹	770 ¹	5	18
5.2	Zhou Wencong (NB)	0	218	198	173	231	820	218 ¹	198 ¹	173 ^o	231 ¹	820 ¹	4	
5.3	Andrew Yong (NB)	0	248	203	194	187	832	248 ¹	203 ¹	194 ¹	187 ^o	832 ¹	4	
	Team#5 score	0	628	601	581	612	2422	628 ¹	601 ¹	581 ¹	612 ¹	2422 ¹	5	
6	Alleygators (Tm #06)													
6.1	Zaleha Abdul Manaf (NB)	29	118	148	137	150	553	147 ^o	177 ^o	166 ^o	179 ^o	669 ^o	0	2
6.2	Lam Chee Leong (NB)	13	161	151	186	174	672	174 ^o	164 ^o	199 ¹	187 ^o	724 ^o	1	
6.3	Wang Liyang Jake (NB)	14	148	135	169	192	644	162 ^o	149 ^o	183 ^o	206 ¹	700 ^o	1	
	Team#6 score	56	427	434	492	516	1869	483 ^o	490 ^o	548 ^o	572 ^o	2093 ^o	0	
7	Phytoplankton (Tm #07)													
7.1	Tyrael Aw (NB)	26	104	149	146	96	495	130 ^o	175 ^o	172 ^o	122 ^o	599 ^o	0	9.5
7.2	Aw Yang Ming (NB)	0	181	212	209	154	756	181 ^o	212 ¹	209 ¹	154 ^o	756 ¹	3.5	
7.3	Alvin Gan (NB)	0	198	193	220	152	763	198 ¹	193 ¹	220 ¹	152 ^o	763 ¹	4	
	Team#7 score	26	483	554	575	402	2014	509 ^o	580 ¹	601 ¹	428 ^o	2118 ^o	2	
8	JuzStriXe (Tm #08)													
8.1	Francis Yap (NB)	16	138	187	177	147	649	154 ¹	203 ¹	193 ¹	163 ¹	713 ¹	5	10.5
8.2	Kwek Yao Chie (NB)	6	175	170	200	166	711	181 ^o	176 ^o	206 ^o	172 ¹	735 ^o	1.5	
8.3	Gerald Ang (NB)	3	192	169	163	215	739	195 ^o	172 ^o	166 ^o	218 ¹	751 ^o	1	
	Team#8 score	25	505	526	540	528	2099	530 ¹	551 ^o	565 ^o	553 ¹	2199 ¹	3	
9	SYNERGY (Tm #09)													
9.1	Anbu Ganesh (NB)	23	143	140	175	149	607	166 ^o	163 ¹	198 ¹	172 ^o	699 ^o	2	14.5
9.2	Tan Chee Keong, Matthew (NB)	0	245	161	225	202	833	245 ¹	161 ^o	225 ¹	202 ¹	833 ¹	4	
9.3	Low Chang Hong (NB)	0	184	185	203	207	779	184 ^o	185 ¹	203 ¹	207 ¹	779 ¹	4.5	
	Team#9 score	23	572	486	603	558	2219	595 ¹	509 ^o	626 ¹	581 ¹	2311 ¹	4	
10	Finger Tippers (Tm #10)													
10.1	Nurul Syazwani (NB)	21	181	136	143	157	617	202 ¹	157 ^o	164 ^o	178 ¹	701 ¹	3	5.5
10.2	Norazlin Jumadi (NB)	25	142	187	130	116	575	167 ^o	212 ¹	155 ^o	141 ^o	675 ^o	1	
10.3	Hanafiah Bin Mahbut (NB)	9	175	172	164	176	687	184 ^o	181 ^o	173 ^o	185 ^o	723 ^o	0.5	
	Team#10 score	55	498	495	437	449	1879	553 ^o	550 ¹	492 ^o	504 ^o	2099 ^o	1	
11	The Pin Crushers (Tm #11)													
11.1	Pang Chee Yong Jason (NB)	24	126	167	142	120	555	150 ^o	191 ^o	166 ^o	144 ^o	651 ^o	0	3
11.2	Nge Moh Lim (NB)	29	122	167	140	117	546	151 ^o	196 ¹	169 ^o	146 ^o	662 ^o	1	
11.3	Liu Gong Kai Andrew (NB)	14	163	179	139	165	646	177 ^o	193 ^o	153 ^o	179 ¹	702 ^o	1	
	Team#11 score	67	411	513	421	402	1747	478 ^o	580 ¹	488 ^o	469 ^o	2015 ^o	1	
12	Fun2Bowl (Tm #12)													
12.1	Gwendolyn Khoo (NB)	4	170	200	171	187	728	174 ¹	204 ¹	175 ¹	191 ¹	744 ¹	5	17
12.2	Peter Yeo (NB)	7	160	159	192	189	700	167 ¹	166 ^o	199 ¹	196 ¹	728 ¹	4	
12.3	Kenneth Lee (NB)	4	177	203	188	161	729	181 ¹	207 ¹	192 ¹	165 ^o	745 ¹	4	
	Team#12 score	15	507	562	551	537	2157	522 ¹	577 ^o	566 ¹	552 ¹	2217 ¹	4	